Multiplicar Tres Polinomios (D)
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Simplifique cada expresion.

- —3y(6y® — 2y)(6y" + 5¢°)

9p*(p* + 2p°) (—9p* + 5p)

3. —5s%(2s* + 65%)(—65 — 7)

=214 (4t* — Tt) (5t 4 2t)

- —5n(=9n® + 8n?)(n" + 9In?)
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Multiplicar Tres Polinomios (D) Respuestas
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Simplifique cada expresion.

- =3y (6y” - 2y)(6y" + 5y°)
= —108y" — 54y° + 30y°

- 9p°(p* + 2p”) (—9p” + 5p)
= —81p°% — 117p" + 90p°

- —55%(25* 4 65°)(—65 — 7)
= 605" + 250s% + 210s°

=2t (4t — Tt) (5t 4 21)
= —40t® 4 54t" + 28t°

- —5n(=9n® + 8n?)(n* 4+ In?)
= 45n° + 3651 — 360n°
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